
Mounting Plate Coverplate
Polebox Compact series
E-no: 2700450
Assembly instructions

www.nextgreen.se
info@nextgreen.se

Next Green AB
Brudtallsvägen 14
SE-792 32 MORA
SWEDEN

The plate is intended to use as a cover when
there is no charger to attach to one side of
the Polebox compact. 

Mounting the Coverplate to the 
Polebox Compact: 

Use the M6x12 screws when mounting the 
mounting plate to the Polebox compact unit.

4 pcs screw M6x12
4 pcs nut M6
4 pcs springwasher M6

Fasteners included:

All electrical installation work must be carried out by an authorized 
installer and meet the installation requirements in the country of use.



Montageplåt Täckplåt är i första hand avsedd 
som täckplåt när ingen EV-laddbox ska 
monteras på ena sidan av Polebox Compact. 

4 st skruv M6x12
4 st mutter      M6
4 st fjäderbricka   M6

Montering täckplåt:

Använd de medföljande M6x12 
skruvarna för att montera 
montageplåten i Polebox
compactenheten.

Medföljande fästelement:Montageplåt Täckplåt
Polebox Compact-serien
E-nr: 2700450
Monteringsanvisning

www.nextgreen.se
info@nextgreen.se

Next Green AB
Brudtallsvägen 14
SE-792 32 MORA
SWEDEN

© Next Green AB 2024 25000300-999 V1.1

Allt elinstallationsarbete måste utföras av en auktoriserad installatör 
och uppfylla installationskraven i användningslandet.


	Bild 1
	Bild 2

